o
[N

<0 @> (rad)
o
o [
[ [¢)]

ML s
+

0 b A b
+ ;

o -
107 1

2 3
TPlpoT (PCA t%obeamlinélf)

< dcotl>)
o
=
a1

...........................

=
o
iN

1

TPlpoT (PCA

3
Hheamiindf

—=— DQM_CKF_SoftQCD
—e— DQM_mkFit_SoftQCD-noDNN-baseline
—— DQM_mkFit_SoftQCD-noDNN-fix

100r

< 00, > (M)

D T
> B :
- u 4 .
A r :
o 4_ :
= r :
o - .
o o .
T e R S -
] T P B
o HEE 3
|+
L * :
i SEE J EEE T PP PP PPPP 44
- - L J
o+ .
o
_1- ] | I

+ .

(O8] R R TR E TR - - -+

&+

Ratio
M
+_ .

1071 1

: 2 3
TPlpg)T (PCA t%)obeamlin%)o

<od,> (um)

LT -~

+|

o :
107 1

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


